



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$\left(-\frac{1}{4}\right)^{(-1)} + \frac{1}{6} =$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{6} =$$

$$\left(\frac{1}{5}\right) + \frac{3}{5} =$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{1}{5} =$$

$$\left(-\frac{1}{3}\right)^0 - \frac{1}{5} =$$

$$\left(\frac{1}{3}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{4}\right)^{(-1)} + \frac{1}{4} =$$

$$\left(-\frac{3}{4}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{3}\right)^{(-2)} + \frac{2}{5} =$$

$$\left(-\frac{1}{4}\right)^{(-2)} + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right) + \frac{1}{4} =$$

$$\left(-\frac{2}{5}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{4} =$$

$$\left(\frac{1}{6}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{1}{5}\right)^{(-2)} + \frac{1}{3} =$$



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$\left(-\frac{1}{4}\right)^{(-1)} + \frac{1}{6} = \left(-\frac{23}{6}\right) = \left(-3\frac{5}{6}\right)$$

$$\left(\frac{2}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{50}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{6} = \frac{79}{150}$$

$$\left(\frac{1}{5}\right) + \frac{3}{5} = \frac{4}{5}$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{1}{5} = \frac{134}{45} = 2\frac{44}{45}$$

$$\left(-\frac{1}{3}\right)^0 - \frac{1}{5} = \frac{4}{5}$$

$$\left(\frac{1}{3}\right) - \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(-\frac{1}{4}\right)^{(-1)} + \frac{1}{4} = \left(-\frac{15}{4}\right) = \left(-3\frac{3}{4}\right)$$

$$\left(-\frac{3}{4}\right) - \left(-\frac{1}{3}\right) = \left(-\frac{5}{12}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{4} = 0$$

$$\left(\frac{1}{3}\right)^{(-2)} + \frac{2}{5} = \frac{47}{5} = 9\frac{2}{5}$$

$$\left(-\frac{1}{4}\right)^{(-2)} + \left(-\frac{1}{4}\right) = \frac{63}{4} = 15\frac{3}{4}$$

$$\left(\frac{1}{2}\right) + \frac{1}{4} = \frac{3}{4}$$

$$\left(-\frac{2}{5}\right)^2 + \frac{1}{2} = \frac{33}{50}$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{1}{4}\right) = \frac{13}{16}$$

$$\left(-\frac{1}{4}\right)^{(-1)} - \left(-\frac{3}{4}\right) = \left(-\frac{13}{4}\right) = \left(-3\frac{1}{4}\right)$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{3}{4} = \frac{61}{4} = 15\frac{1}{4}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{4} = \left(-\frac{9}{4}\right) = \left(-2\frac{1}{4}\right)$$

$$\left(\frac{1}{6}\right)^2 - \frac{1}{5} = \left(-\frac{31}{180}\right)$$

$$\left(\frac{1}{5}\right)^{(-2)} + \frac{1}{3} = \frac{76}{3} = 25\frac{1}{3}$$